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Mohit.. 1 day ago

Thank-you Sir for this Amagzing Class Session of today's.. ' 2

T
And

Atul Sharma 1 day ago

sir ji pahle wale ka option 4 sahi hai ) _
My Answers for today's homework are like-
1). Option D- 5/4.

Atul Sharma 1 day ago ). C||]tIEJI'I B- -7.
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5 1 GF  REPLY Thank-you So much, Sir ji.. (2=

oy 1 G REPLY

Sarji question number 2 ka option (B) sahi hai
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: Nakul Dhiman 1 day ago Ankit Pra’[ap Singh | day ago 9 Muskan Raj 1 day ago
T 1 Efd and 7 II. 5IIII4
"? 5/4 and -7 5/4 and -7
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TA=0 =4 x (3-1)tbx J=20fJand B=4 =6 x 2+7 ¥ 3, then the value of A+B7







34 = (12 +116+2/3 of 4/9 = (1/3 - 11/81)+1/4 = 2/3
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2.5 of 4—13=0.25>=3)






















